Name: _____________________ Block: ____

Spiral 9: Due 11-10-2016 NO CALCULATORS!!!!!!  Show All Work!

1. Sam received $134 for her work as a store clerk last week.  Sam owes her mom $200.  What numeric value represents Sam's money situation?
2. One morning, the temperature was 13˚ below zero. By 10 a.m. the temperature rose 17˚ Celsius (C) and then dropped 7˚C by evening.  What was the evening temperature?
3. In Charlotte, Canada the thermometer registered a low temperature for the year of -19˚F.  In Charleston, South Carolina the low temperature for the year was 29˚F.  What is the difference between the low temperatures?
4. A group of hikers climbed from the bottom of Pike's Peak (elevation -55 feet) to the top (elevation 720 feet).  What is the difference in elevation between the top and bottom of the mountain peak?
5. From 7:00 p.m. to 1:00 a.m. the temperature dropped from 25˚C to -17˚C.  What was the average temperature change per hour?

6. A United States Marine submarine can dive 45 meters per second. What is the depth of a submarine after diving for 7 seconds?

7. During a football game, Jeff had the following total yards. What was his total net gain?

8yds, -6yds, -4yds, 10yds

8. Amelia owes her parents $65. She just got a check for $47. How much does she still owe her parents?

9.   Tasha finished the first draft of her history essay. The teacher said it had to be at least six hundred    words long. She counted the words in her draft and found she had 369. How many more words does she need to meet the minimum word count for the assignment?
10.   Tyler and Christina are playing a game in which each player either wins, loses, or draws (ties) at each turn. The winner of a turn is awarded 5 points, and the loser loses 5 points. If it is a draw, 0 points are awarded. For the first eight rounds Tyler had the following results: lose, win, lose, win, win, lose, win, draw. What was Christina's point total for the rounds? 

